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SUBJECT- COMPUTER APPLICATION
PAPER II
CYBER SECURITY AND SOFTWARE ENGINEERING

UNIT-1

OBJECTIVE TYPE QUESTIONS

1. Why would a hacker use a proxy server?
TH g WiT TaR BT JUINT - B2

A. To create a stronger connection with the target.
B. To create a ghost server on the network.

C. To obtain a remote access connection.

D. To hide malicious activity on the network.

2. The process of identifying an individual based on username and password-

Username 3IR Password & YR TR Afad P! UgA™ B DI Ulchdl-

A. Authentication

B. Authorization

C. Either authentication or authorization
D. Neither authentication nor authorization

3. A practice and precautions taken to protect valuable information from unauthorized access,
recording, disclosure or destruction.

3R d Ugd, Repifat, T IdmRur a1 farTel ¥ Yeua™ SHeR & &l & forg e snary
3R Traenfa|

a) Network Security
b) Database Security
c) Information Security
d) Physical Security

4. From the options below, which of them is not a threat to information security



Y U v Rweut 7 §, P GIon TR F T TR A

a) Disaster

b) eavesdropping

¢) Information leakage

d) Unchanged default password

5. Lack of access control policy is a

31fA Fgzor Afa &1 37T §-

a) Bug

b) Threat

¢) Vulnerability
d) Attack

6. What is the best statement for taking advantage of a weakness in the security of an IT
system?

3EET YOTTRl 1 GI&T H HHSNT T o1 336 & [T HTH <ol HU FT e

A. Threat
B. Attack
C. Exploit
D. Vulnerability

7. From the options below, which of them is not a vulnerability to information security?

oA QT aw fasredt A ¥, i Faar GRET & v Segar 7 82

a) flood

b) without deleting data, disposal of storage media
¢) unchanged default password

d) latest patches and updates not done

8. Which of the following does authentication aim to accomplish?

AT T & @ @l JATONSOT T QU el T oI&T @ &

a. Restrict what operations/data the user can access
b. Determine if the user is an attacker
c. Flag the user if he/she misbehaves



d. Determine who the user is
e. None of the above

9. What type of symmetric key algorithm using a streaming cipher is used to encrypt information?

AT Y Theshte et o foIT TTHIT AFHT T 3T I §U hd THR T TATAT Foil
TeIMRZA g

A.RC4
B. Blowfish
C. SHA
D. MD5

10. To hide information inside a picture ,what technology is used?

Ueh d&dR & 3ieT ST Bue & fow, fFg deele &1 39319 fhar Srar g

A. Root kits

B. Bit mapping

C. Steganography
D. Image Rendering

11. Input message in Cryptography is called-
fSheciamdT & SeTqe HeRr &gl SIdr &

(a) Plain text

(b) Cipher Text

(c) Plain and cipher
(d) None of the above

12. The process to discover plain text or key is known as:

Plain text IT key ST @ISt &l &l YfshaT &l gl ST g
(a) Cryptanalysis

(b) Crypto design

(c) Crypto processing

(d) Crypto graphic

13. Confidentiality with asymmetric-key cryptosystem has its own



asymmetric-key fsheeT TTE & TATY INYARIAT ST 39T §

A. Entities
B. Data

C. Problems
D. Translator

14. In Message Confidentiality, the transmitted message must make sense to only intended

HE2A P IMIATIAT H, AT TG haol HST H AT AT

A. Receiver
B. Sender

C. Modulor
D. Translator

15. Input message in Cryptography is called;
fspeetamhr & soTqe FeRr T gl Sfiar g

(a) Plain text

(b) Cipher Text

(c) Plain and cipher

(d) None of the above

16. An attack on a cipher text message where the attacker attempts to use all possible permutations
and combinations is called

Teh APT TFEC e W gHT o1gl gHoay g gonfaa saaRada ik gaear &

39T e BT TIH HLl &

(a) Brute-Plaintext attack

(b) Birthday attack

(c) Known-Plaintext attack

(d) Chosen-plaintext attack

17. By using you can diminish the chance of data leakage.

FT YA = 3T 22T RATT H GHGAT Y FH FT Thd 2

a) Cryptography
b) Tomography
c) Chorography
d) Steganography

18. is a term used in cryptography that refers to a message before
encryption or after decryption.

fshcetamthY  Tgerd Teh 2reg; § i Uieshorlel & Ugel AT f3foheeret &
TG, TG T TG THd FLAT g |




A. Cipher text
B. Plain text

C. Plain script
D. Original text

19. The is encrypted text
ufeshees Ce &

A. Cipher text
B. Cipher script
C. Secret text
D. Secret script

20. Decryption algorithm:
f3fshcere TeaniReA:

() Encrypts input data

(b) Decrypts the encrypted data
(c) Bothaand b

(d) None of the above

21. The altering of data so that it is not usable unless the changes are undone is

3T # Wacd SHTAU fF I§ 99 dF 3UAT FI AT g1 § 5T aF & IRadT
qdad o gl

A. ergonomics
B. compression
C. biometrics
D. encryption

22. The Caesar cipher is Caesar Cipher’sL
A. transposition

B. additive

C. shift

D. none of the above

23. Asymmetric key is also called:  3rHHTHT SHoft 8 gl ST &

(a) Secret key
(b) Public key



(c) Private key
(d) None of the above

24. In an authentication using symmetric keys, if 10 people need to communicate, we need

................. Keys

HHTAT Sl T STATIT e FHTONRIOT H, I 10 ST T Falle, el shT JTaLTehdT &, Al g4
................. ol I ATTTHAT ¢ |

(@) 10

(b) 20

(c) 30

(d) 40

25. In the digital signature technique, the sender of the message uses................. to create cipher
text:

BfSce gEaeR doheiied H, HGA HT UV Cipher text Folel & fIT oo HI 39T
AT &

(@) Own symmetric key

(b) Own private key

(c) The receiver's private key
(d) Receiver's public key

26. An along with a key is used in the encryption and decryption of data

3eT & UleshearsT 3R B3fshcersT & key & @1y T 31T fhaT SATAT B
A. Cryptography algorithm

B. Decryption algorithm

C. Encryption algorithm

D. Plain text algorithm

27. RSA stands for:
RSA T 3TE

(a) Rivest Shamir and Adleman
(b) Rock Shane and Amozen
(c) Rivest Shane and Amozen
(d) Rock Shamir and Adleman

28. RSA algorithm uses variable sized key that is usually between........ and bits.



RSA TealR2H variable sized keydhT 3TN T & I 3THAR T ... IR g fagargl

(a) 256,1048
(b) 256, 2048
(c) 512, 1048
(d) 512, 2048

29. The input block length in AES is:
AES# So9C sclish i &IaTS §

(a) 56 bits
(b) 64 bits
(c) 112 bits
(d) 128 bits

30. Encryption strength is based on:
ufesheers erferd 3maTiRa &

(a) Strength of algorithm
(b) Secrecy of key

(c) Length of key

(d) All of the above

31. In an efficient algorithm for factoring large number is discovered, which of the following
schemes will be known to be not secure?

thereRIT & ToIT Teh H2AT TIRLH 7 a1 H&TT &1 Tiel &1 718 ¢, e & F sl 4@
TYSTeAT GITEI AgT gram-

(a) Diffle-Hellman
(b) RSA

(c) AES

(d) None of the above

32. What are MD4 and MD5?
MD4 3k MD5 Far §

(a) Symmetric Encryption Algorithms
(b) Asymmetric encryption Algorithms
(c) Hashing algorithms

(d) Digital certificates

33. SHA-1 is similar to:

SHA-1F GHAT &



(@) RSA
(b) DES
(c) MDS
(d) Rijndael

SHORT ANSWER TYPE QUESTIONS

1.

7.

What is the difference between Asymmetric and Symmetric encryption and which one is
better?

3TAMAT 3 ARG oo & a7 3iae g iR plg arsgaw g ?

What are the issues of information security concepts?
AT GIETT IAURONST & Hee 1 8

What are the security services and mechanisms of information security concepts?
T QT3 3R AT GI&TT ITURONIN & o F FA1 8

What is Cryptography?
fopceramhr T §

Explain encryption and decryption techniques in information security?

T FRET H Thosheere I R2fFcerd derellenl Sl saT&ar &Y

Explain Cryptographic systems ?
frcctanfhe e & carear &Y

Explain the technique of Cryptanalysis?

Cryptanalysis &l cehaileh o a1 H a0

LONG ANSWER TYPE QUESTIONS



Q.1 Explain Network Security Model with suitable diagram?
3YYF NG & WY Acdeh G&T HAlsel i el A
Q.2 Write the algorithm for Data Encryption Standard?

3T Ufesheelsd Al & fow TeamRea ford
Q.3 Write the algorithm for Advanced Encryption Standard?

3eedd Uleshtelel Al & fov Teames ford
Q.4 Write the algorithm for RSA?
RSA & T teaReA ford

Q.5 Explain the architecture of information security with suitable diagram?
3UYFT INW & WY FIAT GI&T T arEJeholl T AT H
Q.6 What are the goals of information security concepts?

AT GI&T ITURONSNT & ofed F7 &
UNIT-2
OBJECTIVE TYPE QUESTIONS

1. Which phase of hacking performs actual attack on a network or system?

2fhaT T T AT TUT Acas AT RATCH W I ds gHT Hldl ¢

A. Reconnaissance

B. Maintaining Access
C. Scanning

D. Gaining Access

2. What are some of the most common vulnerabilities that exist in a network or system?
oY 3H FHAANRET & H FS FAT g ol el Aeas a1 feea A Alge &

A. Changing manufacturer, or recommended, settings of a newly installed application.
B. Additional unused features on commercial software packages.

C. Utilizing open source application code
D. Balancing security concerns with functionality and ease of use of a system.

3. The first phase of hacking an IT system is compromise of which foundation of security?



3MSEN YU Y §eh el ohT TgelT TROT FI&T I o aiig o1 FHSIAT 82

A. Availability

B. Confidentiality
C. Integrity

D. Authentication

4. Authentication is
JHATOfRIOT §

A. modification

B. insertion

C. hard to assure identity of user on a remote system
D. none of the above

5. What is the purpose of a Denial of Service attack?

sfoarer 3T |fdd attack T 3caT FAT R

A. Exploit a weakness in the TCP/IP stack

B. To execute a Trojan on a system

C. To overload a system so it is no longer operational
D. To shutdown services by turning them off

6. Which of the following is not a typical characteristic of an ethical hacker?

farfaf@a & & a1 v Afas g Fr v [Aferse fGwar #&t g
A. Excellent knowledge of Windows.

B. Understands the process of exploiting network vulnerabilities.

C. Patience, persistence and perseverance.

D. Has the highest level of security for the organization.

7. What is the most important activity in system hacking?

faFea §feher & @ Agcayot afafafer = §

A. Information gathering
B. Cracking passwords



C. Escalating privileges
D. Covering tracks

8. The first phase of hacking an IT system is compromise of which foundation of security?

3MEET YOTTRl &l gk el T Ygoll TXOT FI&T I fohdl siia o1 FHSHAT §
A. Availability

B. Confidentiality

C. Integrity

D. Authentication

9. Phishing is a form of

Phishing H Th 9 ¢
A. Spamming
B. Identify Theft
C. Impersonation
D. Scanning
10. MCAfee is an example of

MCAfee Teh 3eTgI0T -

A. Photo Editing Software
B. Quick Heal

C. Virus

D. Antivirus

. VIRUS stands for

VIRUS &T #AdAS &

A. Very Intelligent Result Until Source
B. Very Interchanged Resource Under Search
C. Vital Information Resource Under Slege
D. Viral Important Record User Searched
12. Which of the following is not an antivirus software?

AT & ¥ ST vdarRy airedaw a8 §

A. AVG

B. Avast

C. Code Red
D. MCAfee

13. Key logger isa Key loggerus &
A. Firmware



B. Antivirus
C. Spyware
D. All of the above

14. To protect yourself from computer hacker, you should turn on a

HTIEX gL W e & T & [T, 3T ATe] HIAT AT

A. Script

B. Firewall
C.VLC

D. Antivirus

A. data driven attacks
B. fire attacks

C. virus attacks

D. unauthorised access

16. Code red is a(n) ----------
Code red &

A. Word Processing Software
B. Antivirus

C. Virus

D. Photo Editing Software

17. Hacking refers to:
gfeher & arcad §

(a) Data access without permission
(b) Data updation without permission
(c) Data deletion without permission
(d) All of the above

18. Which of the following is not a type of cyber crime? Teafof@d & & &l TBaR IRy

T Th IR A6l &

A Data theft

B Forgery

C Damage to data and systems



D Installing antivirus for protection

19. Cyber-crime can be categorized into types.

Ar8sR-Crime &Y JehRT # affere fondm ST Hehell B |
A4
B3
C2
D6

20 Which of the following is not done by cyber criminals?
AFIT T 7 F it AT WIS TR GIRT 8T T ST &

A Unauthorized account access

B Mass attack using Trojans as botnets
C Email spoofing and spamming

D Report vulnerability in any system

21 In which year India’s IT Act came into existence?

R av & aRa & 3msdr sffage aifeaca & 3mam

A 2000
B 2001
C 2002
D 2003

22What is the punishment in India for stealing computer documents, assets or any software’s
source code from any organization, individual, or from any other means?

AR H T 811 HaToeT, i a1 Tohdll 3 ATETHA @ HYe GEATdST, HUT AT feohall
HIFCIIT Gl hIS T I & T AT HT 87

A 6 months of imprisonment and a fine of Rs. 50,000
B 1 year of imprisonment and a fine of Rs. 100,000
C 2 years of imprisonment and a fine of Rs. 250,000
D 3 years of imprisonment and a fine of Rs. 500,000

23 Information Technology (IT) Act 2000 came into force on ...... ?

AT SR (SN AT 2000 S EIT .....

A 17 October 2000



B 9 June 2000
C 1 June 2000
D 1 October 2000

24 Information Technology (Amendment) Act, 2008 has come into force in ?

AT Sl aehT (Feirere) 3fafaaa, 2008 Se] g3 g

A January 2008
B October 2009
C October 2008
D January 2009

25 What is/are component of IT Act 2000 ?
FAT & / 3TSET AT 2000 F Tk §

A Legal Recognition to Digital Signatures
B Regulation of Certification Authorities
C Digital Certificates

D All the above

26 Which among following Act is not amended in Information Technology Act 2000 ?
=T it s 2000 # et dfafazat 7 & sl a1 deMere 781 fhar arn
g2

A The Bankers Books Evidence Act, 1891
B BSNL IT Policy

C RBI Act 1934

D The Indian Evidence Act, 1872

27 What type of cyber-crime, laws and punishments does section 66 of the Indian IT Act holds?

o TR T ATSER-3TIRTE, FloleT X &3 HRATT ITSET ATATAIH T €T 66 o 3ideTd AT &
A Cracking or illegally hack into any system

B Putting antivirus into the victim

C Stealing data

D Stealing hardware components

8 In which year the Indian IT Act, 2000 got updated?
forer Y # o1 3T 31T, 2000 93T €31
A 2006

B 2008
C 2010



D 2012

29 What is the updated version of the IT Act, 2000? HT$ET ATRATATA, 2000 FT AT T HERIT

FIATE?

A IT Act, 2007

B Advanced IT Act, 2007
C IT Act, 2008

D Advanced IT Act, 2008

30 Under which section of IT Act, stealing any digital asset or information is written a cyber-

crime.a@m%%&@am%aﬁmﬁaﬁ%ﬁmmmmﬁmﬂm?

TS 1S ToI@T ST §

A 65
B 65-D
C 67
D70

31What is the full form of ITA-2000? ITA-2000 T qoT §9 &1 §

A Information Tech Act -2000

B Indian Technology Act -2000

C International Technology Act -2000
D Information Technology Act -2000

32 What is the name of the IT law that India is having in the Indian legislature?
AR ALYt H R o TS Slefet T T ATH 7

A India’s Technology (IT) Act, 2000

B India’s Digital Information Technology (DIT) Act, 2000
C India’s Information Technology (IT) Act, 2000

D The Technology Act, 2008

33 Which of the following is not an example of a computer as weapon cyber-crime?

oA TeITe 1 8 leT T TR TSR, SRTET &5 6 hoage o SaTeon g

A Credit card fraudulent

B Spying someone using keylogger
C IPR Violation

D Pornography

34 Which of the following is not a type of peer-to-peer cyber-crime?

AT & & FieT NIR-g- NI TSR -3IRTY T Teh TR 78T &



A Phishing

B Injecting Trojans to a target victim
C MiTM

D Credit card details leak in deep web

SHORT ANSWER TYPE QUESTIONS

Q.1 Explain CIA triad ?
CIA triad ST SATEAT &Y ?

Q.2 Explain risk, vulnerability and threat?

STEH, Hedr 3R @ Fr gredr w12
Q.3What is a Brute Force Attack? How can you prevent it?

Brute Force Attack FT 872 379 39 & J% THd &

Q.4 What are some of the common Cyberattacks?

AT BN g7 FIT 87

Q.5 What are black hat, white hat and grey hat hackers?
Black hat, white hat 3iX grey hat Y &1 & ?

Q.6 Explain DDOS attack and how to prevent it?

DDOS attack3iR & Udhel & Tk FATT?
Q.7 Explain Phishing and how to prevent it?

Phishing& IR & §dU 3K 38 Hy AT 0?2

8. What are malware?
HTIAIT T 82

9. What are different types of hacking?
&R & AT yaw Far &

10. What is the difference between IDS and IPS?
IDS 3 IPSH T 37aX &7



LONG ANSWER TYPE QUESTIONS

Q.1 What is cybersecurity?
TS FR&T FIT &2

Q.2 What are the advantages of cyber security?
HISST G&T & FAT BIIS 67
Q.3 Explain the types of attacks on Confidentiality, Integrity and Availability?
MY, AGSAT 3R 3TAUdT W §Hel & JhRI & dR H Te?
Q.4 What are security counter measures?
&I 13T UM T g7
Q.5Explain the intrusion detection system of cyber security?

TSR FRET T GHIS HI IAT 3Tl dlell YOIl T carEar Y ?

Q.6 Explain The Indian IT-Act?
SRR 3TSET-3rfafaTe fir carear #3?

UNIT-3
OBJECTIVE TYPE QUESTIONS

1.What is a Software?

T AMFcdIX 4T g7

A.  Software is documentation and configuration of data

B. Software is set of programs

C. Software is set of programs, documentation & configuration of data
D.  None of the above

2. SDLC stands for:
SDLC &

A. System Development Life cycle

B. Software Design Life Cycle

C. Software Development Life Cycle

D. System Design Life Cycle

3.Which one of the following models is not suitable for accommodating any change?



fAF=TTTAd & @ st a1 Alser fohell sl IR I FANTIT el o forw 3ugerd =€ 87

A. Prototyping Model
B. RAD Model

C. Build & Fix Model
D. Waterfall Model

4. Choose the correct option in terms of issues related to professional responsibility

Professional AR & AT gl & Hedt # Tl fdehed Tot

a) Confidentiality

b) Intellectual property rights

c¢) Both Confidentiality & Intellectual property rights
d) Managing Client Relationships

5. “Software engineers should not use their technical skills to misuse other people’s
computers.”Here the term misuse refers to:

"HIFCAA SN TAA I Ul Tehoilehl hI2TeT T ST GAR AT & HTY T GEILNT el oh
fore 781 sttt e T | JET eree GEUANeT Hefdid i &

a) Unauthorized access to computer material

b) Unauthorized modification of computer material

c) Dissemination of viruses or other malware
d) All of the mentioned

6. Efficiency in a software product does not include

AMFEATR 3cUTG, H GaTaT 7 QAT el ¢-
a) responsiveness

b) licensing

c) memory utilization

d) processing time

7. A model that is the demo implementation of the system
U A3 S fATeH FT SAT implementationg-

a) waterfall

b) prototype
c) incremental
d) agile



8. Maintenance is the final phase in waterfall model
Maintenance Waterfall ATgol & 3ifad TROT§

a) True
b) False

9. A stage in which individual components are integrated and ensured that they are error-free to
meet customer requirements-

Teh TROT ST ST el sl Tehlehel TohdT ST & 3R I8 FiATRerd foham Sirar g v

FTEhI T HTALTHATIHT T I el o forT i Here 8-
a) Coding

b) Testing

c) Design

d) Implementation

10. IS a step in which design is translated into machine-readable form

Ueh &G H ¢ Torae [Sarrset ol #LeT-Tae1ar 9 7 ffanted T ST &
a) Design
b) Conversion
c) Debugging
d) Coding

11. The customer requirements are broken down into logical modules for ease of

TG ehT ol IR AT T Y ITATAT & ToIT ATfeheh AT A Als &= Sirar
3

a) inheritance

b) design

c) editing

d) implementation

12. What do you call a technical person who is capable of understanding the basic requirements?
39 Teh Tehollehl hTer T FAT HEd & il JiIdIAT AT T TASA H TaTH §
a) team leader

b) analyst

C) engineer

d) stakeholder

13. A step in waterfall model that involves a meeting with the customer to understand the
requirements



Waterfal|FTScl T Teh sheH ToITH ATTLTRATT T THST o TolT Mg o ATY d&eh ATHA &
a) Requirement Gathering

b) SRS

c¢) Implementation

d) Customer review

14. Methodology in which project management processes were step-by step.

a) Incremental
b) Waterfall

c) Spiral

d) Prototyping

15. An individual who plans and directs the work.

e eI Tard SiY &1 T AratelT 3T e hear &

a) Stakeholder
b) Project manager
c) Team leader
d) Programmer

16. Spiral model is originally proposed by
SpiralATseT HT §T & YA §

a. Boehm

b.Winston

c.Royce

d.Dexter

17. A software program that is outdated is termed as

T HIFCAIN S St QI g i §, 38 i fear S &
a.legacy application

b.engineering application

c.embedded application

d.open source application

18. In the spiral model ‘risk analysis’ is performed in

Spiral ATSSl & 'SNT@H Fevor Far Srar &
a. In the first loop
b.In every loop

c.Before using the spiral model
d.In first and second loop

19.The spiral model is
Spiral ATSol %
a. It is more chaotic than the incremental model



b. Include project risks evaluation during each iteration
c. Ends with the delivery of software product
d. None of the above

20. Pattern enables software team to develop a hierarchical process description that begins at

Yot HiredIqX A H Ueh Aofiacy Sishar fqavor fsfad it # H&TH Jardr § i
}[E BT &

a.high level of abstraction
b.low level of abstraction
c.mid level of abstraction
d.no level of abstraction

21.The spiral model has two dimensions namely and
affer Alger & & 3 gid 8 S 3R

a) diagonal, angular

b) radial, perpendicular

c) radial, angular

d) diagonal, perpendicular

22. A software process that facilitates teaching of industrial-grade team skills is

Teh HIFCdIR Ui St 3iicqifien-ds &\ Hierel &1 gelel T giaur ge= wic &
a TSP

b.PSP

c.PHP

d.SPICE

23. How is WINWIN Spiral Model different from Spiral Model?
T WinWIN Spiral #sel Spiral AT & 37eTeT §
a) It defines tasks required to define timelines, resources, and other project related information

b) During the starting of each pass around the spiral, It defines a set of negotiation related activities

c) It defines tasks required to assess both management and technical risks
d) It defines tasks required to test, install, construct, and provide user support

24. How is the Incremental Model different from Spiral Model?

&8 Incremental ATl Spiral ATSST & 3Tl &

a) Progress can be measured for Incremental Model

b) In incremental model, changing requirements can be accommodated
c) All of the mentioned

d) None of these

25. ldentify the disadvantage of The Spiral Model.
SpiralATSST o [ehAT I Tgelel Y
a) Doesn’t work well for smaller projects




b) High amount of risk analysis
c) Strong approval and documentation control
d) None of these

26. Each loop in the spiral represents of the software process in Boehm’s spiral model
Spirald 9cdeh ST SEH & SpiralATSeT #H HWFeAIL iohar & &1 gidfafed adr
3

a. phase

b. design

c. documentation
d. none of the above

27. The incremental model passes through the phases in each interaction
Incremental HTSel Tcdeh SciaeleT & phases & ISR &

a.communication and modeling
b.planning and construction
c.deployment and maintenance
d.all of the above

28.Which of the following testing strategy established during requirements analysis is against
developed software?

3MAISA3N & faevur & el Tafta [Feafaf@a gderor wefa & @ i ar
AT aiFedsx & ams &

a.Validation
b.Integration
c.Regression
d.System

29. The incremental model is

Incremental ATSoT &

a. A reasonable approach when well-defined requirements.
b.good approach when a working core product quickly
c.approach to use projects with large development teams.
d.revolutionary model is not used for commercial.

30. The Incremental Model is combination of

IncrementalHATSer FT AT &

a. Build & FIX Model & Waterfall
b. Linear Model & RAD



c.Linear Model & Prototyping
d.Waterfall Model & RAD

31.The main difference between Incremental Model and Spiral Model is
Incremental #TSel 3R Spiral AlSST & &I HET 3N &

a. Progress can be measured

b. Changing requirements can be accommodated
c. Users can see the system early

d. no difference between these two

32.The advantage of using an Incremental Model
Incremental ATST T 3UANIT FHll DT T

a. Customers can respond to each increment

b. Easier to test and debug

c.when there is a need to get a product to the market early
d.Bothb &c

33. In an incremental model, each iteration goes through the following steps.
Incremental #ISel #, e Iteration &= TRl & IRl gl

a.communication and modeling
b.planning and construction
c.deployment and maintenance
d.all

34.The element that holds technology layers together and timely development of computer
software process.

g8 dcd Sif Slefaehl 9l T Teh Y @ § 3R Heged AFeaTT Uishar &l T
W fIHrE e B

a.hardware
b.software
c.control
d.embedded

35. Which pattern defines a software engineering action that is part of software engineering
practice

il AT Yool Teh AMFCAI SoNTAARIT HRATS Dl IRATVT AT § ST AFedaR
SATIIRIT 379TH T 7Eam &

a.task
b.stage
c.phase



d.dynamic

SHORT ANSWER TYPE QUESTIONS

Q.1 Explain the characteristics of software?

AP FI TAATAT3IT o TR H FaATC
Q.2 Explain the layered technology of software Engineering?

ATFedTT SofaaRar $7 layered deheileh ST STTEAT i

Q.3 Explain the components of Software?
TMFedAR & eahl ohl SATEAT i
Q.4 Explain the applications of Software?

HIFCAT & AN T AT Y

LONG ANSWER TYPE QUESTIONS

Q.1 Explain linear sequential model with suitable diagram?

3G NG & AY Linear Sequential HISel &I & &l

Q.2 Explain Prototype model with suitable diagram?

39ged R & HY NEBY FAlsel T qrEdm H

Q.3 Explain RAD model with suitable diagram?

3YYFA ING & Y RADHAISH I ITE&AT FY

Q.4 Explain incremental model with suitable diagram?

3ugerd 3IIRG & T Incremental ATSST HT SITEIT HY

Q.5 Explain spiral model with suitable diagram?
3YYFA R & @Y SpiralASe Sl IEAT




UNIT-4

OBJECTIVE TYPE QUESTIONS

1. Which of the following is not project management goal?

farafaf@d # & i aRISTAT gaued a8 A6 g

a) Keeping overall costs within budget

b) Delivering the software to the customer at the agreed time

c) Maintaining a happy and well-functioning development team
d) Avoiding customer complaints

2. Project managers have to assess the risks that may affect a project.

IRANSTAT TSR I 3T SNTQAT T 3Teholed AT T S fmdly gIRAS=T  ganfaa
Y Thd ¢

a) True
b) False

3. Which of the following is not considered as a risk in project management?
Rfaf@a & O 9 aRAsar yeus & Sf@d J387 AT Srar g
a) Specification delays

b) Product competition

c) Testing

d) Staff turnover

4. The process each manager follows during the life of a project is known as

Teh GRATSAT & Sideiehlel & GRIA Tcdeh YaUdh GaRl I Slel drell 9fehdT &l 39

YehX ST ST &

a) Project Management

b) Manager life cycle

¢) Project Management Life Cycle
d) All of the mentioned

5. 66.6% risk is considered as
66.6% SNTEH T AT ATdT &

a) very low
b) low



c) moderate

d) high

6. Which of the following is/are main parameters that you should use when computing the costs of
a software development project?

fAfaf@d & @ Fld @1 vh Jgeg WedeT & 5@ 393197 gt diveda) s
IRANSTAT & FETAr T T Y AT HAT 1T

a) travel and training costs

b) hardware and software costs

c) effort costs (the costs of paying software engineers and managers)
d) all of the mentioned

7. Quality planning is the process of developing

o]

a) team

b) project

C) customers

d) project manager

8. Which of the following is incorrect activity for the configuration management of a software
system?

AFAW TECH & g gaveT & fov Feafaf@a & 4 #ia @) soa afafaf™ §

a) Internship management

b) Change management

c) Version management

d) System management

9. Identify the sub-process of process improvement
IfshaT GUR HT 3U-HThdT HT ggelel H

a) Process introduction

b) Process analysis

c) De-processification

d) Process distribution

10. Which of the following is an important factor that can affect the accuracy and efficacy of
estimates?

FFfaf@d & & i &7 U Agcayul wRe ¢ Sl A Sl Flehell AR THIGRIRT
A gerTfad X Thar &

a) Project size
b) Planning process



c) Project complexity
d) Degree of structural uncertainty
11. What describes the data and control to be processed?

TafRd 6T S arel et 3R =0T & Far goie §

a) Planning process
b) Software scope

c) External hardware
d) Project complexity

12. A number of independent investigators have developed a team-oriented approach to
requirements gathering that can be applied to establish the scope of a project called

S TS SBT3 o HEALIRATINT H Fheal A & Tov Teh AH-377W Tl

fApfad frar § 99 RIS & aRR &1 TAfd & & fow &y fhar a7 gehar g
a) JAD

b) CLASS

c) FAST

d) None of the mentioned

13. CLSS stands for

CLSS &

a) conveyor line sorting system

b) conveyor line sorting software

c) conveyor line sorting speed

d) conveyor line sorting specification

14. The project planner examines the statement of scope and extracts all important software
functions which is known as

ARITSTAT STATHR IS & FAT S Sd Al § HR T Agcaqul AFead’
HFAT Pl Ahrerdr g, o & §F & I ST §

a) Association

b) Decomposition

¢) Planning process

d) All of the mentioned

15. The environment that supports the software project is called

HATFCATT NAAFe T FAYA Hlad el drdrauT T el il g
a) CLSS

b) SEE

¢) FAST

d) CBSE

16. Which of the following is not an option to achieve reliable cost and effort estimate?



fAmfafad & @ ala [Aaesy arerd 3R 99a &1 A 9od R FT [@Aheq =AE
e

a) Base estimates on similar projects that have already been completed

b) Use one or more empirical models for software cost and effort estimation

c) Use relatively simple decomposition techniques to generate project cost and effort estimates
d) The ability to translate the size estimate into human effort, calendar time, and dollars

17. What can be used to complement decomposition techniques and offer a potentially valuable
estimation approach in their own right?

HYEC dehoileh & b & ToIT AT SEAATST fohdl ST Fehell § 3R 39eT 3T H
HHTTAT HoddTlel AT TISCehIOT T UNHA T Fehell §

a) Automated estimation tools

b) Empirical estimation models

c) Decomposition techniques

d) Both Automated estimation tools and Empirical estimation models

18. Which of the following is not achieved by an automated estimation tools?

fArfaf@d & @ la v Taaniod A ol g@RT 9Ied =gt fohar I/ g

a) Predicting staffing levels

b) Predicting software cost

c) Predicting software schedules
d) Predicting clients demands

19. Software project estimation can never be an exact science, but a combination of good historical
data and systematic techniques can improve estimation accuracy.

HIFCAIR IRASTAT T 3l Fef 8t Tk AT €T 87 Fhehl 8, Afohet 3
UfET e 3¢ 3R FafeUd dhallehl ol TSI JAT Tl H FUR F Fhl &
a) True

b) False

20. COCOMO stands for
COCOMO &

A. Constructive cost Model
B. Common control Model
C. Composition cost Model
D. Consumed cost Model

21.What is the most common measure for correctness?



Correctness & ToIT & T 39T FAT &

A. Errors per KLOC

B. Defects per KLOC

C. $ per KLOC

D. Pages of documentation per KLOC

22. Line of code (LOC) of the product comes under which type of measures?

LOC Tohd Wb & 39TAT & 33T 3T &
A. Direct measure

B. Coding

C. Indirect measures

D. None of the above

23.In size-oriented metrics, metrics are developed based on the
size-oriented metrics®, metricsaT TIhIT SHeh TR WX [hAT ATAT &

A. Number of user inputs

B. Number of lines of code

C. Number of Functions

D. Amount of memory usage

24. Which of the following are parameters involved in computing the total cost of a software
development project?

HIFca Taehrd IRAISTAT 6T ol ST HT AT el H Feafaf@ad & & i 4
WA AT 82

a) Hardware and software costs
b) Effort costs

c) Travel and training costs

d) All of the mentioned

25. Which of the following costs is not part of the total effort cost?

fArfaf@d & @ ala & aerd S 9T deTd w1 REAr AL 8

a) Costs of networking and communications

b) Costs of providing heating and lighting office space
¢) Costs of lunch time food

d) Costs of support staff




26. What is related to the overall functionality of the delivered software?

FIT AaRT ATFeIIT S AT FRIGTHAT ¥ JaT8d &

a) Function-related metrics
b) Product-related metrics
c) Size-related metrics

d) None of the mentioned

27. A is developed using historical cost information that relates some software metric
to the project cost.
Teh UfagTfie omeTd ST &1 39T ik fahfdd fohar a=am g St

IRITSTAT AT & fIT $& AFCAI metric § AT &

a) Algorithmic cost modelling
b) Expert judgement

c) Estimation by analogy

d) Parkinson’s Law

28. It is often difficult to estimate size at an early stage in a project when only a specification is
available

Teh IRATSTAT H TR TROT & TR T 3eTHTeT ST FER H el Gl § ST shdef Teh
e 3uaer grar .

a) True
b) False

29. Which technique is applicable when other projects in the same analogy application domain
have been completed?

SIS Teh §1 3TeT®Y 3eI9Ner ST H 3eg GRS G g7 915 & o ief & deheiten
el &

a) Algorithmic cost modelling
b) Expert judgement

c) Estimation by analogy

d) Parkinson’s Law

30. Which model assumes that systems are created from reusable components, scripting or
database programming?

hisT AT ATSST AT & foh [ECH Tof: TS UeehT, scriptingT SIS WA & ST am §



a) An application-composition model
b) A post-architecture model

c) A reuse model

d) An early design model

31. Which of the following states that work expands to fill the time available.

foFT & & &l a1 S 39y TAT & W & T §
a) CASE tools

b) Pricing to win

c) Parkinson’s Law

d) Expert judgement

32. Which model is used during early stages of the system design after the requirements have been
established?

IMARIHATIT HT TUTIAT & a1 TAEeH f3iga & BT oM & R fhay #Alser H1
39rer foRar ST B

a) An application-composition model
b) A post-architecture model

c) A reuse model

d) An early design model

33. Which model is used to compute the effort required to integrate reusable components or
program code that is automatically generated by design or program translation tools?

fohe ATSel &1 3TN oT: YAIST TTh AT WTH HIS H Tehihd Fel & [T 3TaRTsh
T & AU fhar ST & S Taaiferd &9 8 fSllga a1 WA 3fdie ol ganrT
3cUeol g &

a) An application-composition model
b) A post-architecture model

c) A reuse model

d) An early design model

34. The COCOMO model takes into account different approaches to software development, reuse,
etc.

COCOMO HISel HIFEAAR Tdehrd, ToT: 3UNeT 3N1E o TaffeeT TioehIol T eareT # T@ar
gl

a) True
b) False



SHORT ANSWER TYPE QUESTIONS

Q.1 What is software scope?

GIFedI ThIT FAT &

Q.2 How can we derive the size of software product?
&H TAIFedIT 3cUTE T 3TPR Sy YIed & Gohd o

Q.3 What are function points?
HFRAT UISe FAT &
Q.4 What is feasibility study?
Feasibility study &1 &

Q.5 What is software metric?

TIFeadIT metric FAT g

Q.6 What are the objectives of software project planning?

TIFCAA GIStere ATl & 36628 FT o

LONG ANSWER TYPE QUESTIONS

Q.1 Explain the 4Ps of project management concepts?

IRATSTAT Tl HTUROMAT T 4P T SITEAT Y

Q.2What is project estimation in software project planning?

HIFCATT WISieFe Tolliolal 3 Hisiehe T 3lHAT F4T §

Q.3 What are the Decomposition techniques in Software Project Planning?
HTFeAITX rolFe Aelal H decomposition deheileh FIT &

Q.4 Explain in detail what is COCOMO Model?

fATar & sarv f& COCOMO AfSe T &
UNIT-5
OBJECTIVE TYPE QUESTIONS

1. Which of the following is not included in failure costs?

frafaRad & & DI failure costs & =M 81 8

a) rework



b) repair
c) failure mode analysis
d) none of the mentioned

2 . Which requirements are the foundation from which quality is measured?

DI It saadman g § fSH9 Toradn &1 A1 ST §
a) Hardware

b) Software

c) Programmers

d) None of the mentioned

3. Which of the following is not a SQA plan for a project?

Fofiafad & @ o O oA & T soa Ao =8 8

a) evaluations to be performed

b) amount of technical work

c) audits and reviews to be performed

d) documents to be produced by the SQA group

4. What is the degree to which design specifications are followed in manufacturing the
product

m@%ﬁﬂhﬁmﬁﬁwﬁmwmw%mmﬁ@ﬁ
feat

a) Quality Control

b) Quality of conformance
c) Quality Assurance

d) None of the mentioned

5. Which of the following is not included in External failure costs?
frafiied & @ & aredt fawaar armar & e g8l @
a) testing
b) help line support
) warranty work
d) complaint resolution

6. Which of the following is not an appraisal cost in SQA?

frafaied & @ & W1 SQA H Heaid arTd -8l &




a) inter-process inspection
b) maintenance

¢) quality planning

d) testing

7. Who identifies documents, and verifies that corrections have been made to the software?

HF UgaHdl g &ael, 3R JAIUd &Rl & b dueddR # guR fHu 1w

a) Project manager

b) Project team

c) SQA group

d) All of the mentioned

8. The primary objective of formal technical reviews is to find during the process so
that

they do not become defects aftgr release of the software.

TR qdh-e! THiemstt &1 Uufe Ie=g Uil & aRM G2l
Qo § dld

TedqR IRt 89 & &% 9 N 78l §d 3

a) errors

b) equivalent faults
c) failure cause
d) none of the mentioned

9.What is not included in prevention costs?
AHUH DI AN H o1 M el &

a) quality planning

b) formal technical reviews

c) test equipment

d) equipment calibration and maintenance

10.Software quality assurance consists of the auditing and reporting functions of
management.
AT aaR TUIaT MY H gaed & TS iR Raifé wri =nfia g
a) True
b) False

11 Quallty Management in software engineering is also known as

IredqR SonfaiT & TuEdr veed & &9 & ot SE1 S @



a) SQA

b) SQM

c) SQl

d) SQA and SQM

12. Quality also can be looked at in terms of user satisfaction which includes

UG &1 SUANTGAl Bt Aq® & deH # W <@ o1 gdar § e wfia €

a) A compliant product
b) Good quality output
c) Delivery within budget and schedule
d) All of the mentioned

13. Inspections and testing are what kinds of Quality Costs?

e SR wigmn e ard Y UeR & §

a) Prevention
b) Internal Failure
c) External Failure
d) Appraisal

14. What is Six Sigma?
6 R a1

a) It is the most widely used strategy for statistical quality assurance

b) The “Six Sigma” refers to six standard deviations

c) It is the most widely used strategy for statistical quality assurance AND The “Six Sigma” refers
to

six standard deviations

d) A Formal Technical Review(FTR) guideline for quality walkthrough or inspection

15. Which of the following is not a core step of Six Sigma?

fafafea o § &F 6 R &1 T o7 Hel 781 §
a) Define
b) Control
c) Measure
d) Analyse

16. Non-conformance to software requirements is known as



Atk TaGHdST & ol IR-3I&Tdl & U & S ol g

a) Software availability
b) Software reliability

c) Software failure

d) None of the mentioned

17. Software safety is equivalent to software reliability.

FreaR e TERR AT W 2

a) True
b) False

18. Misinterpretation of customer communication is a sample of possible cause defects.
e TR Pt TTAd RS YHTAT HRUT ST BT Uh THAT §
a) True
b) False

19. What kind of quality cost is incurred when an error is detected in a product prior to
shipment?
Rrode ¥ ugd el Ide ¥ I & ydl 9o W &9 YR &t [uear arrd gt
g

a) Prevention
b) Internal Failure
c) External Failure
d) Appraisal

20. The degree to which the design specifications are followed during manufacturing is known

ﬁﬁﬂfﬂ?%ﬁﬂ?%ﬁﬁ?%ﬁﬁﬁﬁ%ﬁﬁ%@ﬁ% =0 H ST S1dT1 8

a) Quality of design

b) Quality of conformance
¢) Quality of testing

d) None of the mentioned

21. Quality of design encompasses requirements and specifications of the system.

(SO &1 UM Yulell &1 Saadmarsdl iR faRkigdret &1 mHa & §

a) True
b) False




22. According to 1SO 9001, inspection and testing comes under which management
responsibility?

MU 9001 & AR, IO 3R WRigur fory Uded foeR! & dgd ofal &

a) Process control

b) Document control

¢) Control of nonconforming products
d) Servicing

23. Alpha testing is done at
3epT Tderor fobar SaT ®

a) Developers end

b) User*s end

c) Developer®s & User*s end
d) None of the mentioned

24. Boundary value analysis belong to?

O geu fawowor & geiftd §

a) White Box Testing

b) Black Box Testing

c) White Box & Black Box Testing
d) None of the mentioned

25. What are the various Testing Levels?
faftrr odteor wR @ §

a) Unit Testing

b) System Testing

c) Integration Testing
d) All of the mentioned

26. Which of the following is/are White box technique?

fFofafea & @ oF Ot <8 I dBe @

a) Statement Testing

b) Decision Testing

c) Condition Coverage
d) All of the mentioned



27. Exhaustive testing is
YehTe TR B

a) always possible

b) practically possible

c) impractical but possible

d) impractical and impossible

28. White Box techniques are also classified as
X13e S db-ia! & o Fiffed fear mar g
a) Design based testing
b) Structural testing
c) Error guessing technique
d) None of the mentioned

29. Which of the following term describes testing?

e & ¥ S I s TV BT U PR

a) Finding broken code

b) Evaluating deliverable to find errors
c) A stage of all projects

d) None of the mentioned

30. The testing in which code is checked

a8 T fogd 3 &1 di9 @ 9l 7

a) Black box testing
b) White box testing
c) Red box testing

d) Green box testing

31. Acceptance testing is also known as
SR & ®U H off I o ©

a) Grey box testing
b) White box testing
c¢) Alpha Testing

d) Beta testing

32. Which of the following is non-functional testing?



fufifed & ¥ oF 9 R-saias WK

a) Black box testing

b) Performance testing

¢) Unit testing

d) None of the mentioned

33. Beta testing is done at

der wdierr fear o &

a) User™s end

b) Developer*s end

c¢) User”s & Developers end
d) None of the mentioned

34. Unit testing is done by
3PS RGO - gRT foam < ®

a) Users

b) Developers

c) Customers

d) None of the mentioned

35. Behavioral testing is
AR T §

a) White box testing

b) Black box testing

c) Grey box testing

d) None of the mentioned

36. Which of the following is black box testing

fArAfaf@a & @ @i a1 sole dioa adieor §

a) Basic path testing

b) Boundary value analysis
¢) Code path analysis

d) None of the mentioned

37. Validation refers to the set of tasks that ensure that software correctly implements a specific



function.
AU 3 FET & FHE P Fefdid T § N € AR Fd § & qFedd &
e w0 & ad a8 @ oy g ?

a) True
b) False

38. Which testing level has the focus on customer usage?

e qdeTor TaX I ARSE & 3YANT W eI T SAar €

a) Alpha Testing

b) Beta Testing

c) Validation Testing
d) Both Alpha and Beta

39. Which testing is an integration testing approach that is commonly used when “shrink-wrapped”
software products are being developed?

hisl AT GLETOT Ueh TehIohIOT GLETOT fSChIVT § ST AR WX "fApsr-fode afredy
3carel & [Sfld e & fore 3uaier frar sirar &

a) Regression Testing
b) Integration testing

c) Smoke testing

d) Validation testing

40. What is normally considered as an adjunct to the coding step

IHAR W FET &F QAT vF G@-F § T & F47 AT 49T ¢

a) Integration testing

b) Unit testing

¢) Completion of Testing
d) Regression Testing

41. What is the main purpose of integration testing?
TS OT TRITOT 3T 3T 3689 FAT §

a) Design errors



b) Interface errors
c¢) Procedure errors
d) None of the above

42. Testing of individual components by the developers are comes under which type of testing?

STAUH GART SAfFAIra ueahl HT TA&Tor g 9oR & qfietor & raea 3mar §

a) Integration testing
b) Validation testing
¢) Unit testing

d) None of the above

43. is a white-box testing technique first proposed by Tom McCabe.

_ U Othg dierd aT0T dehelloh & Told g ol I Hehehel GaRT EATIAT fohdT a7 21
a) Equivalence Partitioning

b) Basis Path Testing

c.) Boundary Value Analysis

d) None of the above.

44. When the Testing Principles are useful while building the Software Product?

AFEATT 391G & AAT Fa FAT wetor Rguia Fa suaef g 8

a) During testing

b) During execution

c) During review

d) Throughout life-cycle

45. When different combination of input requires different combination of actions,which of the
following technique is used in such situation?

SId gaqe & Tafdest HatelT & v fhamsit & f&affies FaleTe T 3maegenar giar g, ar
O Ryfa 7 Aeafaf@d deedie &1 393 fhar Srar g

a) Boundary Value Analysis
b) Equivalence Partition

c) Decision Table

d) Decision Coverage



46. Which of the following is not a part of Performance Testing?

farafaf@d & @ Sl ugeier adreror &1 Rear & &

a) Measuring Transaction Rate.
b) Measuring Response Time.
c) Measuring the LOC.

d) None of the above

47. Finding Defect is not a major goal of Acceptance Testing.

aIY ST TAT SF3TTAT Tl TRI&TOT T Teh THE o1& 161 &

a) True
b) False

48. Which of the following is the form of Alpha and Beta Testing?
fArafaf@a & @ i srewr 3 dfier gdayor F1 w0 §

a) Acceptance Testing
b) System Testing

¢) Unit Testing

d) Integration Testing

49. Which of the following is a myth in testing?

Afaf@d & @ ia geror J ves AU §

a) Tester can find bugs

b) Any user can test software

c) Missed defects are not due to testers
d) Complete testing is not possible

50. SDLC stands for
SDLC &

a) Software development life cycle
b) System development life cycle
c¢) Software design life cycle

d) System design life cycle



51. Which of the following divides the input domain into classes containing data?

fPrafaf@a & ¥ Fi9 397 AT A 3 g @it A Rl wwar @

a) Equivalent partitioning
b) Environment partitioning
¢) Procedure division

d) Compilation division

52, ———m-- is not a Test Document.

a)Test Policy

b)Test Case

c) PIN ( Project Initiation Note)

d)RTM (requirement Traceability matrix)

53.Continual (Continuous) improvement cycle is based on systematic sequence of --------------
activities.

a) SDLC

b) PDCA

c) waterfall model

d) None of the above

54, ---mmemeeee is the application of quality principles to all facets and business process of an
organization.

----------- Teh HITSel o T Ugel3it 3R eradiden Gishdr & v Joraar f@egndt &
3T §

a) TOM

b) Software Testing

c¢) Software tools
d) None of the above

55. The cost incurred in first time reviews and testing is called ---------

WWW&TBﬂTﬁWﬁg‘é’ CIEIG R IR T I I L S —




a) Red money

b) Green money

c) Blue money

d) None of the above

56.Innovation is the --------------- activity leading to changes.
0] [ [— Ifafafer § S deelrd &1 3R o ST g
a) Planned

b) Accidental

c) virtual

d) None of the above

57. Inventions may lead to major changes in technology , way of doing work.

INfISHR T dhelleh H §3 dSd g ohd &, FIH FeT HT adiel|

a) true
b) false

58. Quality management system of a organization is based on

a) Test plans, Test conditions & decisions

b) Quality processes, Guidelines and standards & Formats and templates
¢) Quality police, objectives and manuals

d) None of the above

59. Requirement Traceability Matrix is a way of doing complete mapping of software

3TGeYehell Traceability HZeFH HIFedaX &1 qf AT & &1 Teh T g

a)true

b)false

60. V- model uses -------- test models

V- AT T ST AT § - qI&ToT A5l

a) Component testing, integration testing, system testing and acceptance testing



b) alpha testing, beta testing , acceptance testing and user testing
c) black box testing, white box testing and gray box testing
d) None of the above

SHORT ANSWER TYPE QUESTIONS
Q.1 What is black-box and white-box testing?

SIH-di 3R FEc-diad TIE0 R §

Q.2 Explain concept of data flow diagram

ST UdTE 3G Pl IGURUN B WY B

Q.3 Write short note on Software Testing process

W dTR TRI&0T isha WR Wi e ford

Q.4 What is feasibility study?

TAgRidT T T §

Q.5 List different methods to gather project requirements?

GRS SHTTHATSHT B ShgT B3 o forw il aRidp! & it =g
Q.6 What is modularization in Software?

ek # TRy R 3

Q.7 What are various types of software maintenance?
AfedqR IWRWE & Afid TR &1 §

Q.8 What is Software Prototyping? List its benefits?

I atR UIEiegy &l 82 S aTH Jaiaw b

LONG ANSWER TYPE QUESTIONS
Q.1 Explain software quality assurance concepts?
TR TUIGT STHRH SAYRUNS Dl AR B

Q.2 What are reviews and formal technical reviews of any software?

foelt off WiredeR &1 ey SR MU= deb-ibl THI&My o §



Q.3 What are software testing fundamentals?

Ao a %%- . a- aa'l' %:
Q.4 Explain the various test case design principles of software testing techniques?

TUeddR WUl do-idl & [afid aRiemr o9 f&emed Rigidl & aren &

Q.5 Explain basis path, unit and integration testing techniques?
Basis path, unit 3R integration TA&0 ddh-i Bl HRST B

Q.6 Explain validation and system testing techniques?

AT 3R Rer uiefur -t o TR B

Q.7 What is Debugging in software Engineering?
' G i



